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This	formation	covers	the	base	verbs	at	different	times.	We	discuss	past,	present,	future,	imperative	or	command,	prohibitions	and	variations	of	these	tenses.	We	also	discuss	how	to	combine	the	verbs	in	each	of	them.	In	Arabic,	verb	conjugation	is	the	process	by	which	verbs	come	from	a	series	of	basic	bodies	(usually	3),	and	how	they	change	at
different	times	with	respect	to	genre,	variety,	voice,	and	other	aspects.	For	a	more	detailed	view	of	where	the	training	aligns	with	Arabic	morphology	in	learning	Arabic	online	and	an	introduction	to	the	basic	concepts,	see	the	introduction	of	this	section	called	entry	into	Arabic	morphology.	Warning	about	the	conjugation	of	Arabic	verbs	for	beginners
is	not	suitable	for	studying	the	topic	of	conjugation	of	these	Arabic	verbs	or	any	other	topic	from	formations	only.	Learner	needs	live	training,	real	questions	answers	and	practice	with	feedback.	Therefore,	you	cannot	read	this	tutorial	and	hope	for	a	full	and	vivid	understanding	of	the	material.	This	reading	is	in	addition	to	the	unique	and	proven
Arabic	courses	presented	by	credible	scholars.	Person	(Third,	Second,	and	First):	Third	person	is	used	when	you	are	talking	about	the	subject	but	there	is	no	subject,	second	person	is	used	when	you	are	talking	about	the	subject,	and	first	person	is	used	when	you	or	you	are	talking	about	the	subject.	·	Gender	(male	and	female)	·	Plurals	(singular,	dual
and	plural)	in	Arabic	use	all	three	persons	and	uses	male	and	female	genders	without	neutrals.	In	addition,	there	are	three	types	of	pluralism	in	Arabic:	singular,	dual	and	plural.	Double	indicates	two	entities,	and	plural	indicates	three	or	more	entities.	Multiplying	3	persons	with	2	genders	with	3	plurals	gets	18	conjugations.	Therefore,	we	expect
Arabic	conjugation	tables	to	resemble	this	(3+	males)	feminininsingularyou	(1	female)	Dualiuou	(2	females)	pluralou	(3	females)	1.	Staff	singular	(1	male)	double	barrier	(2	males)	in	positioning	(3	+	Males)	)	single	(1	woman)	double	(2	women)This	tutorial	covers	the	basic	verbs	at	different	times.	We	discuss	past,	present,	future,	imperative	or	order,
prohibitions	and	variations	of	these	times.	We	also	discuss	how	to	combine	Arab	verbs	in	each.	In	Arabic,	the	conjugation	of	verbs	is	the	process	of	derivation	of	verbs	from	a	set	of	basic	letters	(usually	3)	and	the	way	they	change	at	different	times	to	reflect	genre,	plural,	voice	and	other	aspects.	For	a	more	detailed	understanding	of	the	place	of	this
tutorial	on	Arab	morphology	in	the	learning	of	Arabo	online	and	an	introduction	to	the	basic	concepts,	see	the	introduction	to	this	section	entitled	Introduction	to	Arab	morphology.	Warning	on	the	conjugation	of	Arab	verbs,	beginners	are	not	suitable	for	studying	this	topic	of	conjugation	of	Arab	verbs	or	any	other	topic	by	a	single	tutorial.	The	student
needs	live	training,	real	-time	responses	to	questions	and	practice	with	feedback.	Therefore,	you	cannot	read	this	tutorial	and	expect	to	fully	and	vividly	understand	the	material.	These	readings	are	added	to	excellent	and	proven	Arabic	courses	held	by	renowned	scholars.	Person	(third,	second	and	first):	the	third	person	is	used	when	it	comes	to	a
topic	and	the	topic	is	not	present,	the	second	person	is	used	when	you	open	a	topic	and	the	first	person	is	used	when	talking	about	alone.	·	Gender	(male	and	female)	·	plural	(singular,	dual	and	plural)	the	Arabic	uses	three	people	and	male	and	female	without	neutral.	In	addition,	Arabic	has	three	types	of	plurals:	singular,	dual	and	plural.	Two	means
two	entities	and	plural	means	three	or	more	entities.	Multiplying	3	people	with	2	sexes	by	3	series	you	get	18	conjugations.	Therefore,	we	expect	that	the	Arab	conjugation	tables	resemble	this.	(3+	male)	Singular	female	You	(1	female)	Dualyou	(2	females)	Plural	You	(3	females)	1st	singular	male	person	(1	male)	dualwe	(2	males)	Plural	We	(3+	male)
singular	female	(1	female)	dualwe	dualwe	(2	females))	Pluralwe	(3)	+Not	all	the	first	person's	conjugations	do	not	exist.	The	actual	model	for	Arabic	conjugation	tables	is	shown	below.	+	male),	female	ty	(1	woman)	duel	(2	women)	plural	(3	women)	1.	Litsculin	and	female	canonical	verb	in	conjugation	of	Arab	verbs.	Since	Arabic	grammar	began	more
than	14	centuries	ago,	the	letter	tribes	ùø	ø¹ø	ù	have	been	used	for	this	purpose.	For	example,	if	we	want	to	indicate	that	the	letters	ùO	Øµø	±	±	have	to	have	a	ùøª	Ø	©	on	three	letters	and	have	to	be	an	aleph	between	the	first	and	second	letters,	we	simply	say	that	the	word	must	be	on	the	model	.	Ø¹ùù.	The	canonical	letters	are	replaced	by	the



letters	with	which	we	work,	and	we	receive	ùø§øµùø	±	±.	Verb	in	the	past	The	first	conjugation	of	the	verb	with	the	past	can	be	obtained	by	placing	the	given	sentence	of	land	letters	on	the	pattern	ùø¹ùople,	ùùøoo	or	ù	Ø¹ùù.	During	the	entire	tutorial,	we	will	not	be	interested	in	these	three	options,	how	they	work	and	why	they	exist;	This	is	treated	in
a	later	tutorial.	For	the	moment	we	assume	that	we	receive	the	first	past	conjugation	of	verbs	when	we	take	a	number	of	land	letters	and	put	them	on	the	ùø¹ù	model.	Let	us	use	the	roots	of	the	letters	ù	Øxø	Ø	±,	which	result	in	the	meaning	"help".	The	word	"ùøµùø	±	ù"	means	help.	Conjugations	are	obtained	by	adding	suffixes	to	this	most
fundamental	form.	Read	the	following	table	and	examine	the	ends	of	each	pairing.	Ø	±	ùø§	(you	help)	femininesingullette	000	±	ù	ùoª	(you	help)	duelù	000	±	±	±	ù§	(you	help)	plural	where	ùøµùø	±	ù	ù	(you	help)	2.	person?	Helped)	Øªªø§	(you	helped)	Pluralùuffhelped)	1st	person	masculine	and	feminine	singular	ÙÙØµÙØ±ÙØªÙ	(I	helped)	plural
ÙÙØµÙØ±ÙÙÙÙØ§	(we	helped)	Verb	change	in	the	past	tense	occurs	in	three	aspects:	voice	(active	and	passive):	when	the	verb	is	active,	it	is	mentioned;	when	it	is	passive,	its	object	takes	the	place	of	the	subject.	For	example,	compare	"helped"	and	"helped	me".	In	the	first	case	"I"	is	the	subject	and	in	the	second	"I"	is	the	object	and	the	subject	is
not	mentioned	negation	(affirmative	and	negative)	distance	(past	tense,	present	simple	tense,	past	tense):	simple	past	tense	is	past	tense	without	specifying	distance	as	in	"I	helped";	present	perfect	tense	adds	"a/a"	to	get	"I	helped";	and	the	past	perfect	adds	"should"	to	get	"I	helped".	Multiplying	2	votes	by	2	negative	parities	with	3	levels	of	distance
yields	12	conjugation	tables.	However,	present	perfect	negative	active	and	passive	graphs	are	not	actually	used.	In	other	words,	we	don't	use	the	words	"I	didn't	help"	or	"I	didn't	get	help";	these	values	​​are	passed	in	a	different	way.	Active	and	passive	The	past	active	verb	is	passivated	using	the	following	algorithm.1.	the	last	letter	was	left	alone.	the
penultimate	letter	has	ÙØ³Ø±Ø©3.	all	other	vowels	become	Ø¶ÙØ©	So,	for	example,	ÙÙØµÙØ±Ù	becomes	ÙÙØµÙØ±Ù.	The	resulting	verb	is	conjugated	in	exactly	the	same	way	as	above.	It	is	worth	noting	that	at	the	beginning	of	this	lesson	it	was	mentioned	that	the	past	tense	verb	can	be	one	of	three	patterns.	It	should	be	noted	that	no	matter
which	of	the	three	verbs	is	used,	the	passive	voice	will	always	be	constructed	in	the	same	way;	the	passive	verbs	of	these	three	models	look	exactly	the	same.	Ùøµùø	±	ùùø§	(they	helped)	feminine	singular	singular	ùµù	±	±	±	ùøªùù	(you	helped)	duelùùøµùø	±	ùøªù§	(you	helped)	plural	ùø	±	±	±	±ÙØªÙ	(I	was(pomógł	nam)	czownik	czowy	twierdzocy	i
przeczocy	in	the	anulus	after	prostu	przez	popzedzenie	go	partykuł	Ø	Bierna	czynna	czynna	Ø	Ø	Ø	Ø	Ø	Ø	Ø	Ø	Ø	Ø	§	Ø§	Ø§	Ø	Ø	Ø	Ø	Ø	Ø	Ø	Ø	Ø	Ø	Ø	Ø	Ø	Ø	Ø	Ø	Ø	Ø	Ø	Ø	Ø	Ø	Ø	Ø	Ø	Ø	Ø	Ø	Ø	Ø	Ø	Ø	Ø	Ø	Ø	Ø	Ø	Ø	Ø	Ø	Ø	Ø	Ø	Ø	Ø	Ø	Ø	Ø	Ø	Ø	Ø	Ø	Ø	±	±	init	±	±	±	±	±	±	±	±	±	±	±	±	Ø	Ø	§	§	§	§	§	§	§	Ø	Ø	Ø	Ø	±	±	±	±	±	±	ù	ù	§	Ø	Ø	Ø	Ø	Ø	Ø	±	±	±	±	±	±	Ø	Ø
Ø	Ø	Ø	Ø	Ø	Ø	Ø	Ø	Ø	§	§	§	§	§	Ø	Ø	(nie	otrzymała	pomocy)	Ø)	Ø	Ø	Ø	Ø	Ø	Ø	Ø	Ø	Ø	Ø	Ø	Ø	Ø	Ø	Ø	Ø	(nie	pomogły)	ù	Ø	Ø	Ø	Ø	Ø	Ø	Ø	Ø	Ø	Ø	Ø	Ø	(they	Didž	Not	Help)	zo	Ø	Ø	Ø	Ø	±	±	±	±	±	±	±	ù	ù	ù	±	Ø	§	§	§	§	§	§	§	§	ù	Ø	Ø	Ø	Ø	±	±	±	±	±	±	±	±	Ø	Ø	Ø	Ø	Ø	Ø	Ø	Ø	Pomogłe)	Ø	Ø	Ø	Ø	Ø	Ø	Ø	Ø	Ø	Ø	Ø	Ø	(nie	Byłeś	pomógł)	Ø	Ø	Ø	Ø	Ø	Ø	Ø	Ø	Ø	Ø	Ø	Ø	Ø	zo	Ø
completely	±	Ø	Ø	Ø	Ø	(nie	otrzymałeś	pomocy)	ù	Ø	Ø	Ø	Ø	Ø	Ø	Ø	Ø	Ø	Ø	(nie	pomogłeś	to)	ù	ø	±	Ø	Ø	Ø	Ø	Ø	palzØ	(nie	pomogłeś	to)	you	)	Ho	-Ø	Ø	Ø	§	§	§	§	§	§	§	§	Ø	Ø	Ø	Ø	±	±	±	±	Ø	Ø	Ø	Ø	Ø	Ø	Ø	Ø	Ø	Ø	µ	Ø	§	§	§	§	Ø	Ø	Ø	Ø	Ø	Ø	Ø	Ø	Ø	Ø	Ø	Ø	Ø	Ø	Ø	Ø	Ø	Ø	Ø	§	§	§	§	§	§	§	§	Ø	Ø	separate	a	Ø	§	§	§	§	§	§	§	§	b	±	Ø	Ø	Ø	Ø	Ø	Ø	Ø	Ø	Ø	Ø	Ø	(nie	pomoglymy	't	palīdz)
Ø	Ø	Ø	Ø	Ø	Ø	Ø	Ø	Ø	Ø	Ø	Ø	Ø	Ø	Ø	Ø	Ø	Ø	Ø	Ø	Ø	Ø	Ø	Ø	Ø	Ø	Ø	Ø	Ø	Ø	Ø	Ø	Ø	Ø	Ø	Ø	Ø	Ø	Ø	Ø	Ø	Ø	Ø	Ø	Ø	Ø	(Mēs	Nesaenmām	Paladzīb)	Verbam.	futtnes	single	-tag,	tagadējs	perfektos	parywny	zo	Ø	ø	ù	ù	zo	zo	Ø	Ø	±	(pomógł)	ù	ø	Ø	Ø	Ø	Ø	§	(pomogli)	ù	Ø³	Ø	Ø	±	±	±	Ø	(helped)	ù	ù	ù	I	§	§	§	§	§	§	§	§	§	§	§	ø	Ø	Ø	Ø	Ø	Ø	Ø	Ø	±	±	±	Ø	Ø	Ø	Ø	Ø	Ø	Ø	Ø	ù	Ø	Ø	Ø	±	±
±	±	±	±	±	±	±	±	±	Ø	Ø	Ø	Ø	Ø	Ø	Ø	Ø	Ø	±	±	±	±	±	±	±	±	±	±	±	±	±	±	±	±	±	±	±	±	±	±	±	±	±	±	±	±	±	±	±	±	±	±	±	±	±	±	±	±	±	±	±	±	±	±	±	±	±	±	±	±	±	±	±	±	±	±	±	±	±	±	±	±	±	±	±	±	±	±	±	±	±	±	±	±	±	±	±	±	±	±	±	±	±	±	±	±	±	±	±	±	±	±	±	±	±	±	±	±	±	±	period	±	±	±	±	±	±	±	±	±	±	±	±	±	±	±	±	±	±	±	±	±	±	±	±	±	±	±	±	±	±	±	±
±	±	±	±.	±	±	±	±	±	±	±	±	±	±	±	±	±	±	±	±	±	±	±	±	±	±	±	±	±	±	±	±	±	±	±	Ø	±	Ø	ù	ù	ù	±	±	±	±	±	Ø	Ø	Ø	Ø	Ø	Ø	Ø	Ø	Ø	(you	helped)	±	±	±	±	±	±	±	±	±	±	±	±	±	±	±	±	±	±	±	±	±	Ø	ù	ù	ù	ù	ù)	Ø	Ø	Ø	Ø	Ø	±	±	±	±	±	±	±	Ø	Ø	Ø	Ø	Ø	Ø	Ø	Ø	Ø	Ø	Ø	Ø	Ø	±	zo	Ø	(you	paladzējāt)	Ø	Ø	Ø	Ø	Ø	Ø	Ø	Ø	Ø	Ø	Ø(You	helped)	±	±	medals	(you	helped)	řečřř	±	±
activity	±	activity	±	±	±	±	±	±	±	±	±	±	±	verbs	§	AS.	An	important	point	must	be	observed	here.	Again,	like	an	era,	it's	just	a	particle	and	always	looks	the	same.	However,	the	verb	is	and	should	be	a	tense	form	next	to	the	main	verb,	so	all	you	have	to	do	is	memorize	its	conjugation.	Past	perfect	active	active	passive	passive	active	negative	negative,
perfect	passive	negative	passive	passive	±	±	(helped)	(helped)	(helped)	(helped)	(didn't	help)	(didn't	help))	and	§	§	§	§	§	±	±	(not	p.	S)	Illegal	(help)	(you	helped)	(help)	(helped	you	not	help	you)	(stopped)	(help)	(help)	(it	didn't	help)	ùø	±	ù	ù§	(bylo	jim	pomoženo)	ùø	§	ùø§ùøªªªªªªªª	ùø	ù	ùo	§	§ªªªªªªªªª	±	ùØªùªù§	(nepomohli)	ù§	ùùuffial	§	ùø§	ùù	ùide	±
ùù	(nepomohlo	se	jim)	ùùøù	ùoùgr;	ù	ù	ù	ù	ù	ù	ù	±	±	ù	ù	ù	ù	ù	ù)yardımcı	olmadı)ÙØ§	ÙÙÙÙØªÙÙÙØ§	ÙÙØµÙØ±ÙØªÙÙÙØ§(yardım	görmediniz)ÙÙ	ÙÙØªÙÙÙ	ÙÙØµÙØ±ÙØªÙÙÙ(yardım	etmiştin)ÙÙÙÙØªÙÙÙ	ÙÙØµÙØ±	ÙØªÙÙÙ(sana	yardım	edilmişti)ÙØ§	ÙÙÙÙØªÙÙÙ	ÙÙØµÙØ±ÙØªÙÙÙ(yardım	etmemişsin)	ÙØ§	ÙÙÙÙØªÙÙÙ
ÙÙØµÙØ±ÙØªÙÙÙ(	yardım	görmediniz)ÙÙÙÙØªÙ	Ù	ÙØµÙØ±ÙØªÙ(yardım	etmiştin)ÙÙÙÙØªÙ	ÙÙØµÙØ±ÙØªÙ(yardım	etmiştin)ÙØ§	ÙÙ	ÙÙØªÙ	ÙÙØµÙØ±ÙØªÙ(yardım	etmedin)ÙØ§	ÙÙÙÙØªÙ	ÙÙØµÙØ±ÙØªÙ(	yardım	görmedin)ÙÙÙÙØªÙÙÙØ§	ÙÙØµÙØ±ÙØªÙÙÙØ§(yardım	etmiştin	)ÙÙÙÙ	ØªÙÙÙØ§	ÙÙØµÙØ±ÙØªÙÙÙØ§(yardım
edilmişti)ÙØ§	ÙÙÙÙØªÙÙÙØ§	Ù	ÙØµÙØ±ÙØªÙÙÙØ§(yardım	etmediniz)ÙØ§	ÙÙÙÙØªÙÙÙØ§	ÙÙØµÙØ±Ù	ØªÙÙÙØ§(yardım	görmediniz)ÙÙÙÙØªÙÙÙÙ	ÙÙØµÙØ±ÙØªÙÙÙÙ(siz	yardım	etmişti)ÙÙÙÙØªÙÙÙÙ	ÙÙØµÙØ±	ÙØªÙÙÙÙ(yardım	edilmişti)ÙØ§	ÙÙ	ÙÙØªÙÙÙÙ	ÙÙØµÙØ±ÙØªÙÙÙÙ(yardım	etmedin)ÙØ§	ÙÙÙÙØªÙÙ	ÙÙ	Ù
ÙØµÙØ±ÙØªÙÙÙÙ(yardım	görmediniz)ÙÙÙÙØªÙ	ÙÙØµÙØ±ÙØªÙ(yardım	etmiştim)	)ÙÙÙÙØªÙ	ÙÙØµÙØ±ÙØªÙ(yardım	edildi)ÙØ§	ÙÙÙÙØªÙ	ÙÙØµÙØ±	Ùøªª	(es	nepalīdzēju)	Darbības	dēļ.	Tas	Jau	iricis.	Ideāls	Darbības	Vārds	Tiek	Saukts,	Jo	Darbība	Vēl	Nav	Pabauta.	Šis	Laiks	Vien	Norāda	Uz	Pašreizējo	Laiku,	Tagadni	un	nākotni.	Continsts
Notes,	Kurš	vrt	-lem	ir	Domāts.	Apsvērsim	pamata	burtus	Ø³	Ø	Ø	Ø	Ø	Ø,	Svalscle	nodrošina	“Dzirdes	Trūkstošais	Darbības	Vārds	Tiek	Izveidots,	Ievietojot	Šos	Burtus	veidnē;	Mēs	Iegūstam	Šis	Darbības	Vārds	Má	Nozīmēt	Ardievis,	Ardievis	'Aduy.	Tāpat	Kā	Pagātnes	Darbības	vārdā,	ir	trīs	Šī	režimļa	ŠķniNes.	Pelējums	par	mūsu	mērķiem	mēs	vienkārši
strādāsim	ar	ùùuntening	un	ignorēsim	citas	variācijas.	Šaušanas	tabula	ir	norādīta	zemāk.	Ņemiaet	vērā,	ka	kļūdains	darbības	vārds	ir	gan	prefikss,	gan	spole.	Prefiksēts,	Øª,	Ø£vaiù.	StradatProdukvat	Pro	Nedokonavé	Sloveso.	Některé	Z	Nich	Zahrnují	následující.	Hlas	(Aktivní	a	Pasivní):	Porovnejte	„slyším“,	„slyším“	a	„slyším“	s	„slyším“,	„slyším“	a
„budu	slyšet“.	Slyším	“s„	neslyším	“,„	neslyším	“a„	neslyším	“,	omezené	na	budoucí	čas	(v	blízké	i	vzdálené	budoucnosti):	Jediný	význam,	který	sloveso	nyní	vyjadřuje,	I„	uslyším	".	A	tento	algoritmus	I	platch	bez	ohledi	na	variantu	středního	písmene	uvedenou	na	začátku	tohoto	tutoriálu.	Ø§ùù	(jSou	slyšet)	plurielù	³ùùùùùùùùùùùùùù	(slyší)
femininesugularøª³I	heard	you	have	a	multiple	(you	heard)	(you	heard)	1st	person	(you	heard)	plural	(I	heard)	plural	(hear)	more	(heard)	more	variants,	this	section,	this	section	without	going	down	very	deep	and	explains	It	very	deeply	and	explains	how	to	create	other	variants.	The	reader	is	advised	to	learn	Arabic	all	the	time	and	use	it	only.	Both
active	and	passive	tables	are	simply	declined	by	adding	a	particle	to	each	verb.	This	causes	2	more	tables	of	which	4	are	4.	active	active	negative	negative	negative	negative	negative!	The	meaning	of	adding	prefix	(this	is	a	preposition	that	unites	the	actual)	limits	the	meaning	of	the	near	future,	gives	the	meaning	of	"I	will	hear	it	soon",	and	the
addition	of	the	preposition	Ø³ù³onten	before	Aun	limits	the	distant	future,	gives	which	means	"to	hear".	These	particles	are	added	to	both	active	and	passive	verbs,	but	are	not	negative.	This	causes	another	4	tables.	This	is	obtained	by	adding	ù	Zwierzę	the	animal	before	the	active	and	passive	verbs.	This	causes	2	more	tables.	This	preposition	actually
affects	the	act	in	this	way.	Finally,	the	last	letter	of	the	shoots	is	not	-(there	are	5	of	them)	it	is	in	Ø¶ø	©.	This	will	vary	as	Ø¶¶	©	©,	ù³t.	In	addition,	the	defective	verb	can	be	used	to	deny	the	past	absolutely.	ThisActive	and	passive	verbs	are	obtained	by	adding	the	preposition.	This	gives	you	2	extra	tables.	Now	the	real	action	has	an	impact.	©	In	his
last	letters.	This	is	the	Ø¶ù	Ø	©,	Ø³.	Ù	6	and	12	schüss	The	defective	verb	can	be	used	to	create	a	continuous	verb	when	it	occurs.	This	is	preserved	by	bringing	in	active	and	passive	defective	verbs.	Since	it	is	a	verb,	it	is	rotated	next	to	the	main	verb.	It	is	actually	difficult	because	the	main	verb	is	put	by	the	ideal	moment,	because	the	main	verb	is	of
perfect	importance.	To	get	negative	versions,	both	tables	can	be	appended	to	both.	This	gives	us	4	additional	tables.	Relations	the	first	shoot	of	each	table	below.	Note	that	the	verb	is	actively	conjugated	for	both	active	and	passive	tables.	Ù	Øine	(announced))	Finally,	the	defective	verb	can	be	highlighted	in	two	ways.	Both	accents	are	actually	used	to
emphasize	the	future	tense.	The	first	type	of	subline	is	retained	as	follows.	·	Ù	Ø	Ø	Ø¶	a	on	the	last	lists;	Modify	this	Ø¶©©	into	a	Øªølt.	Now	add	the	last	binding	·	ù	ù	ù	·	·	ù	ù	ù	remove	the	last	accessories	and	replace	it	with	the	last	fixation	for	3,	9	and	10	strokes	and	remove	the	last	fixation	and	the	long	vowels	before	the	BIS	to.	Now	add	the	last
attachment	for	6	and	12	for	records.	Just	add	the	suffixes	that	are	done	for	active	and	passive	tables	and	give	us	2	more	tables.	Sensitive	ceremonyWill	be	safely	heard)	slowly	(will	be	well	heard))	also	the	second	form	of	accent.	The	difference	is	that	the	conjugation	from	Alef	to	ùnie	is	present,	and	the	suffix	ù	Ø	Ø	Ø	to	wear	©	(').	They	also	exist	for
active	and	passive	voices,	which	gives	us	2	more	tables.	The	reprint	of	active	passive	menstruation	(probably	hears)	-	probably	hears)	an	imperative	verb,	which	is	also	mentioned	in	the	command	verb,	is	made	in	incomplete	forms	of	time.	The	table	is	divided	into	two	parts,	each	with	its	own	project.	The	first	is	the	active	conjugation	of	the	other
person,	and	the	second	is	the	conjugation	of	the	third	and	first	person,	like	everything	passive.	The	procedure	for	creating	the	first	sentence	is	as	follows.	·	Start	with	the	imperfect	and	miss	the	prefix.	For	example,	add	to	Øā'øą	·	Add	to	Ø³ùals,	elimination	of	Hamza.	The	main	hams	on	this	is	determined	as	follows:	if	the	second	letter	is	assigned	Ø	©
Hamza	Ø¶	©	OS.	If	the	second	basic	letter	has	one	of	the	other	vowels,	the	Hamza	ù3	is	recommended	±	Ø	©.	In	our	example,	we	have	ø	§–	·	·	·	·	At	the	end	of	the	new	verb,	we	continue	in	the	same	way	as	in	the	tables	from	ù.	For	example,	our	verb	sample	in	ø	§ù	has	the	method	of	building	other	conjugations	is	as	follows.	In	some	situations,	this	can
do	this	with	the	verb	that	the	imperative,	the	imperrative	passive	"’	is	","	listening	"(this	should	be	heard).	Speech)(Listen)	ù	ù	Øth	Ø	Ø	Word	ù	ù	Ø	Ø	Ø	Ø	§	(MUST	LEARN)	Ø§ù	Ø³ù	Ø	'Ø	Øu	ù	ù	(listen)	ù	Ø³ù	ù	Ø	Ø	\	(I	must	listen)	in	ù	Ø	£	ù	Ø	Ø	Word	ù	Ø	Øi	(I	must	listen)	in	ù	ù	ù	Ø³ù	ù	Ø	city	(we	should	listen)	in	ù	ù	ù	Ø	Ø³ù	ù	Ø	ØAP	(now	we	must
listen)	now)	The	imperative	can	be	taken	using	the	same	two	stress	methods	as	an	imperfective	verb.	The	way	of	construction	is	the	same,	except	that	the	prefix	ù	ù	is	not	added,	and	the	meaning	should	be	obvious.	In	order	to	gain	a	deeper	understanding	of	how	to	properly	learn,	see	and	practice	with	conjugation	tables,	it	is	highly	recommended	that
you	learn	Arabic	as	part	of	a	course	and	use	this	guide	as	study	material	only.	for	an	imperative	verb.	Where	obligatory	means	"hearing",	prohibition	means	"not	listening".	And	other	conjugations	are	similar.	This	way	of	forming	a	verb	is	quite	simple;	Once	again,	it	is	also	built	imperfect.	Imperfect	conjugations	are	preceded	by	the	particle	ù	Ø§,	and
the	verb	ending	coincides	with	ù	ù.	he	must	not	listen)	ù	Ø§	ù	Ø³ù	ù	Ø	Øî	(must	not	listen)	as	an	imperative,	the	prohibition	can	also	be	emphasized	using	the	two	modes	of	attention	described	above.	Redundant	verbs	denote	the	ending	of	a	verb	in	simple	conjugation.	This	tutorial	was	a	quick	overview	and	introduction.	For	a	true	understanding,	you
are	invited	to	take	Arabic	courses.	And	for	practice,	readers	are	invited	to	visit	the	verb	practice	page.


